) AVEIN

ABAHTIIMOL

BACK EXTENSION 5= /0

Maykoc lNpyvaoTikng Paxiaiwv
(Odnyiec Zuvappohdynong | Assembly Instructions)

Oodnyog Assembly
OuvapuoAdynong instructions
OoTn ogAida 2 on page 4

L z
LR Y10 TN UNAOKETa

R
i
Learn more about @

the basketball by

scanning the QR @amila.gr AMILASPORTS
ITEM No.: 43906 www.amiLa.ar




NMPOO®YAAZEIZ

* JuuPouleuBeite évav ylatpo mpLv apxioeTe KATTOLO TIPOYPAMMA YUUVACTIKAC.
* Av viwoete Cahdda ry aduvapia, otapatiote dpeca TNV AoKNoT oac.
* Na XpnOIUOTTOIEITE TOV TIAYKO LOVO O€ eTimedn em@Avela.

ANAAYTIKO AIATPAMMA ZYNAPMOAOIHZHZ

AIZTA EEAPTHMATQN ZYNAPMOAOIHXZHZ

# | TMX MEPIFrPAOH # | TMX MNMEPITPAOH
1 1 [Kupiwg okeeToC 11 4 | Kamdaki

2 1 |MNiow Bdon 12| 4 [Bidba M10x75

3 1 |Eumpdc Baon 13| 2 [Bida M10x65

4 1 [MAdka modiwv 14| 4 |[Bida M8x20

5 1 [PuBuilduevo otriptyua 15| 16 [Podéha 10

6 1 | XeipohaPr 16| 4 [Pobdéla8

7 3 [MA\dka evioxuong 17| 8 [Na&uddtacpaieiac M10
8 2 | Ma&ihapt 18 1 |Aéovac

9 2  [Agppwdec mpooTATEUTIKO 19| 2 |[Bida M10x50
10 1 | PuBuioTikdC meipog




XYNAPMOAOTHEH m
Mpwv ekivnoeTe, anmAwoTe OAa Ta e€APTAMATA OE OTO TTATWHA, KATIOU TIOU VA €XETE ATTAETO XWPO.

E€okelwBeite pe Ta e€aptrinata kat tn cuvappoloynon dtapdlovtag mpooeKTIKA TIG oOnyieC.

Briua 1

® TommoBetroTe Kamakia (11) otnv miow
Baon (2).

® >uvdéote TNV miow Pdon (2) Kat pia
mAdKa evioxuong (7) otov Kupiwg
OKeNeTO (1) pe 2 Bideg (12), 4 pobéheg
(15) kau 2 ma&ipadia (17).

® [Tepdote Tov Afova (18) Twv appw-
OWV TPOOTATEUTIKWY OTOV KUPIWG
OKeAeTS (1) Kkal émelta mepdote 1
aAPPWOEC MPOOTATEVTIKO (9) oTnVv
kaBe mAevpd Tou afova (18).

Briua 2

® TommoBetriote kamdkia (11) otnv eunmpdg
Baon (3).

® YuvbéoTe TNV eunpdC Bdon (3) kat 1 Baon
gvioxuong (7) otov Kupiwg okeAeTod (1) pe
2 Bidec (12), 4 podéhec (15) kat 2 ma&iud-
S (17).

®>uvdéoate TNV MAdKa modlwv (4) oTnv
EUTTPOC Baon (3) e 2 Bidec (19), 4 podé-
Aec (15) kat 2 ma&padia (17).

Brua 3

® Juvdéote Tn XelpoAafn (6) kat 1 Bdon evioxuong (7)
oto pubuilouevo otriptyua (5) pe 2 Bidec (13), 4 po-
O6éMNec (15) kat 2 ma&ipadia (17).

® Suvdéote Ta 2 pailapla (8) otn xeipohapPn (6) pe 4
Bidec (14) kat 4 podéhec (16).

® Elodyete 10 pubuildpevo otrptypa (5) otnv utodoxn
TOU KUPIwg OKeAETOU (1) Kal 0TABEPOMOIAOTE TO UE
Tov pUBUIOTIKS TiEipO (10).




PRECAUTIONS

* Consult your doctor before beggining to exercise.
* If you feel dizzy or weak, immediately stop exercising.
* Only use the bench on a flat surface.

ASSEMBLY DIAGRAM

PARTS LIST
# | PCS DESCRIPTION # | PCS DESCRIPTION
1 1 | Main support 11 4 |Endcap
2 1 [Bend base 12| 4 |Bolt M10x75
3 1 |Front base 13| 2 |[Bolt M10x65
4 1 [Foot plate 14| 4 |Bolt M8x20
5 1 [Adjustable support 15| 16 [Washer 10
6 1 [Handlebar 16| 4 [Washer8
7 3 [Reinforcement plate 17| 8 |[LocknutM10
8 2 | Cushion 18 1 |Tube
9 2 |Foam roller 19| 2 [Bolt M10x50
10 1 Fast pin




ASSEMBLY INSTRUCTIONS

Before you begin, place all parts on the floor, somewhere with lots of space, and get aquainted with
them and the procedure by reading the instructions.

® Place the end caps (11) on the bend
base (2).

® Attach the bend base (2) and the
reinforcement plate (7) to the main
support (1) with 2 bolts (12), 4 wash-
ers (15) and 2 lock nuts (17).

® Insert tube (18) in the hole of the
main support (1) and then push a
foam roller (9) on each side of the
tube (18).

Brijua 2

® Place end caps (11) to the front base (3).

® Attach the front base (3) and the rein-
forcement plate (7) to the main support
(1) using 2 bolts (12), 4 washers (15) and
2 lock nuts (17).

® Attach the foot plate (4) to the front base
(3) using 2 bolts (19), 4 washers (15) and
2 lock nuts (17).

Brua 3

® Attach the handlebar (6) and a reinforcement plate
(7) to the adjustable support (5) using 2 bolts (13), 4
washers (15) and 2 lock nuts (17).

® Attach 2 cushions (8) to the handlebar (6) using 4
bolts (14) and 4 washers (16).

® Insert the adjustable support (5) in the opening of
the main support (1) and secure it with the fast pin
(10).




ELDICO ER{;
sport

Aiavéperal ané tnv EAAIKO ZIMOP MON. A.E.E.

Distributed by ELDICO SPORT SA

eMail: support@eldico.gr ¢ Web Site: eldico.gr




